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Lando &amp; Oakley
G = (V(Dd)g/n)F
F riv™N1/3)
X =rIVN1/3)
F = -0.166*X*X + 0.27896*X+0.14782

0.5ml 0.01084 cm3 mm-1
3000 3.000 mm
r=0.0977056 cm
X=r/V™(1/3) = 0.3061
F=0.2176
V=0.01084*3 cm3
Dd =0.99587 g cm-3
g = 980.665 cm s-2
r=0.0977056 cm F =0.2176 G=70.73mN m-1

Wilkinson
r/fa = 0.50832*X+1.52570*X*X-1.24620*X*X*X+0.60642*X*X*X*X-0.0115
X =0.3061
r/a=0.25663
r =0.0977056cm
a=0.380722
a = (2G/Ddg)™(1/2)
G = a*aDdg/2

a=0.380722 Dd=0.99587 gcm-3 g =980.665 cm s-2
G=70.78 MmN m-1
r/V™(1/3) 0.3 Wilkinson

Lando &amp; Oakley

G = (V(Dd)g/n)F

F = -0.166*X"2 + 0.27896*X+0.14782
X =rN™N1/3)

Wilkinson

G = (V(Dd)g/r)F

F = X"3/(2*Y"2)

X =rIV™1/3)

Y = 0.50832*X+1.52570*X*X-1.24620*X"3+0.60642*X"4-0.0115

Lando &amp; Oakley
G = (V(Dd)g/n)F
F riv™N1/3)
X =rIVN1/3)
F =-0.166*X*X + 0.27896*X+0.14782
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0.5ml
3000

r =0.0977056 cm
X= riVA(1/3) = 0.3061

0.01084 cm3 mm-1

3.000 mm

rla = 0.50832*X+1.52570*X*X-1.24620*X*X*X+0.60642*X*X*X*X-0.0115

F=0.2176
Vv=0.01084*3 cms3
Dd =0.99587 g cm-3
g = 980.665 cm s-2
r=0.0977056 cm
F=0.2176 G =70.73 mN m-1
Wilkinson
X =0.3061
rla=0.25663
r =0.0977056cm
a=0.380722
a = (2G/Ddg)™(1/2)
G = a*aDdg/2

a=0.380722 Dd=0.99587 g cm-3
G=70.78 MmN m-1

rIVAL3) 0.3

Lando &amp; Oakley
G = (V(Dd)g/n)F

g = 980.665 cm s-2

Wilkinson

F =-0.166*X"2 + 0.27896*X+0.14782 X = r/V"(1/3)

Wilkinson
G=(V(Dd)g/r)F
F = X"3/(2*Y2)
X =rN™N1/3)

Y =0.50832*X+1.52570*X*X-1.24620*X"3+0.60642*X"4-0.0115
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